
COMPRIMENTO
TOTALUNIT

POS BIT QUANTAÇO

mm cm cm

P1 Lance 1
     50A   1      10     4     124     496
     50A   2      10     4      86     344
     60A   3       5    14      81    1134

P2 Lance 1
     50A   1      10     4     124     496
     50A   2      10     4      86     344
     60A   3       5    14      81    1134

P3 Lance 1
     50A   1      10     4     124     496
     50A   2      10     4      86     344
     60A   3       5    14      81    1134

P4 Lance 1
     50A   1      10     4     124     496
     50A   2      10     4      86     344
     60A   3       5    14      81    1134

P5 Lance 1
     50A   1      10     4     124     496
     50A   2      10     4      86     344
     60A   3       5    14      81    1134

P6 Lance 1
     50A   1      10     4     124     496
     50A   2      10     4      86     344
     60A   3       5    14      81    1134

P7 Lance 1
     50A   1      10     4     124     496
     50A   2      10     4      86     344
     60A   3       5    14      81    1134

P8 Lance 1
     50A   1      10     4     307    1228
     50A   2      10     4      86     344
     60A   3       5    29      91    2639

P9 Lance 1
     50A   1      10     4     307    1228
     50A   2      10     4      86     344
     60A   3       5    29      91    2639

P10 Lance 1
     50A   1      10     4     307    1228
     50A   2      10     4      86     344
     60A   3       5    29      91    2639

P11 Lance 1
     50A   1      10     4     307    1228
     50A   2      10     4      86     344
     60A   3       5    29      91    2639

P12 Lance 1
     50A   1      10     4     307    1228
     50A   2      10     4      86     344
     60A   3       5    29      91    2639

P13 Lance 1
     50A   1      10     4     267    1068
     50A   2      10     4      86     344
     60A   3       5    26      91    2366

P14 Lance 1
     50A   1      10     4     267    1068
     50A   2      10     4      86     344
     60A   3       5    26      91    2366

P15 Lance 1
     50A   1      10     4     307    1228
     50A   2      10     4      86     344
     60A   3       5    29      91    2639

P16 Lance 1
     50A   1      10     4     307    1228
     50A   2      10     4     106     424
     60A   3       5    31      91    2821

P17 Lance 1
     50A   1      10     4     307    1228
     50A   2      10     4     106     424
     60A   3       5    31      91    2821

P18 Lance 1
     50A   1      10     4     307    1228
     50A   2      10     4      86     344
     60A   3       5    29      91    2639

P19 Lance 1
     50A   1      10     4     124     496
     50A   2      10     4      86     344
     60A   3       5    14      81    1134

P20 Lance 1
     50A   1      10     4     307    1228
     50A   2      10     4      86     344
     60A   3       5    29      91    2639

P21 Lance 1
     50A   1      10     4     267    1068
     50A   2      10     4      86     344
     60A   3       5    26      91    2366

P22 Lance 1
     50A   1      10     4     267    1068
     50A   2      10     4      86     344
     60A   3       5    26      91    2366

P23 Lance 1
     50A   1      10     4     267    1068
     50A   2      10     4      86     344
     60A   3       5    26      91    2366

P24 Lance 1
     50A   1      10     4     267    1068
     50A   2      10     4      86     344
     60A   3       5    26      91    2366

P25 Lance 1
     50A   1      10     4     267    1068
     50A   2      10     4      86     344
     60A   3       5    26      91    2366

P26 Lance 1
     50A   1      10     4     267    1068
     50A   2      10     4      86     344
     60A   3       5    26      91    2366

P27 Lance 1
     50A   1      10     4     267    1068
     50A   2      10     4      86     344
     60A   3       5    26      91    2366

COMPR PESOBITAÇO
RESUMO DE AÇO

mm m kgf
    571       88      5     60A
    353      218     10     50A

Peso Total        60A =       88 kgf
Peso Total        50A =      218 kgf
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